TSLPRB POLICE CONSTABLE PRELIMINARY 2016

-

FRESHERS NOW

TRANSPORT & EXPORT CONSTABLES
MEMORY BASED PAPER

1. The Paris Climate Agreement is an
agreement within the framework of the

1. UNFCOP 2. UNFCCC

3. UNEP 4. UNFENV

2. The Commission constituted by the
Central Government to inquire into
Nirbhaya incident and suggest measures
for women safety is

1. Justice Usha Mehra Commission

2. Justice Verma Commission

3. Justice Leelaseth Commission

4. Justice Indira Jai Singh Commission

3. Which one of the following districts of
Telangana experienced the lowest
population growth rate during 2001-11?
1. Mahabubnagar 2. Medak
3. Hyderabad 4. Adilabad

4. In IRNSS, the total number of Satellites
in orbit
1. Seven 2. Eight

3. Five 4, Six

5. Which one of the following Article in
the Indian Constitution related to the
concept of social Jestice?

1. Article 39 2. Article 40

3. Article 37 4. Article 38
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6. The Consumer Rights Protection Act
in India was enacted in

1.1984 2. 1983
3. 1986 4. 1985

7. who is the Author of recently released
book “The Unseen Indira Gandhi'?

1. Aravind Adiga 2. Salman Rushdie

3. K.P.Mathur 4. Arunima Sinha

8. Telangana Government's Double Bod
Room Scheme, each house will be built
with an extent of

1.550 Sq.ft 3. 500 Sq.ft

2. 560 Sq.ft 4. 525 Sq.ft

9. Which Panchayat from Telangana was
selected as pilot Panchayat under the E-
Panchayat programme of the Central
Government?
1. Choutuppal 2. Hazurnagar
3. Pragatinagar 4. Jammikunta

10. The Focal theme of the 103th Indian
Science Congress in Mysore?

1. Science, Population and Development

2. Science India: Professionalism,
Accountability

3. Science & Technology for Indigenous
Development

4. Science in Society
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11. The pH value of normal Human blood
is approximately

1.12.6 2.6.2

3.3 4.7.4

12 An Indian academician appointed as a
member of United Nations University
Council?

1. Shanta Sinha 2. Vidyalatha
3. Radha Kumar 4. Arundhati Roy

13. India's first online portal on cultutal
heritage launched recently:

1. Sahapaedia 3. Konark
2. Ashoka 4. Uday

14. 'Blue Economy' means

1. Marine based economic development
2. Profit from Dolphin production

3. The sky based economic development

4. Profit from fish production

15. India's food grain production in the
year 2015- 16 is about

1. 240.6 Million tons 2. 201.06 Million tons
3. 253.2 Million tons 4. 223.3 Million tons
16. Montreal Protocol is related to

1. Access and Benefit sharing

2. Detect climate changes

3. Protection of Ozone layer
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4. Conservation of Bio-diversity

17. The 'Great Indian Bastard' is the
State bird of

1. Rajasthan 2. Karnataka

3. Andhra pradesh 4. Gajarat

18. The present Lok Sabha at centre is
1. Sixteenth 2. Seventeenth
3. Fourteenth 4. Fifteenth

19. ‘Pochera’ waterfall is located in the
district of

1. Adilabad 3. Khammam
2. Karimnagar 4. Warangal

20. Who is the Chairman appointed by
the Planning Commission to
restructuring centrally sponsored
schemes?

1. Dr. C.Ranga Rajan 2. S.P.Gupta

3. B.K.Chaturvedi 4. Raghuram Rajan
21. Which Supreme Court case
pronounced that Preamble is a part of
basic structure of Indian Constitution?
1. Minerva Mills

2. S.R.Bommai

3. Golaknath

4. Keshavananda Bharati
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22. The Indian Railways launched a train
package to cover important Tourist
centres in the country is named as

1. Mere Buzur-Mere Teerth

2. Punya Teerth

3. Bharat Darshan

4. Theerth Darshan

23. Match the following pairs correctly
related to 'Aasara’ scheme
I. Old age people A. Pink Card
II. Widows B. Blue Card

lll. Physically Challenged C. Green Card

1. 1-C, lI-A, 11I-B
2.1-B, lI-A, llI-C
3. I-B, II-C, llI-A
4. 1-A, 1I-B, llI-C

24. The Five rupee Meal Scheme

'Saddimuta’ introduced by the Telangana
Government to cater
1. Labour 2. Employees
3. Students 4. Farmers

25. The country which will host the 8th
BRICS conference in 2016

1. India 2. China

3. Brazil 4. South Africa
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26. Which International Environment
Conference passed the Agenda 21
Action Plan?

1. Kyoto Protocol 3. Montreal

2. Nagoya Protocol 4. Earth Summit
27. What is meant by ANUBHAV?
1. Anti-Tank Missile

2. Application related to the safety of
women

3. The online platform (software) started by
the Department of Pension & Pensioners.

4. The newly introduced coast guard ship

28. Who was the women from
Uttarakhand approached Supreme Court
over "Talak"?

1. Razia Sultana 2. Shayaro Banu

3. Shigerubanu 4. Asif Siddiqui

29. Who is the present Director General
of International Crop Research Institute
Semi-Arid Tropies?

1. N. Ayyappan 2. David Bergvinson

3. William War 4 Juris Stock

30. Who among the following became the
Prime Minister of India as a member of
Rajya Sabha

A. Indira Gandbhi B. V.P.Singh

C. Deve Gowda D. Manmohan Singh

1.CandD 2.only D
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3.A,CandD 4.B,Cand D
31. Acid rain is mainly caused by

1. Carbon dioxide

2. High Humidity in the air

3. Sulphur dioxide

4. Mercury

32. Which one of the following region
does NO fall under Bio-diversity
Hotspot?

1. Deccan Plateau 3. Himalayas

2. Sundaland 4. Western Ghats

33. Match the following with a suitable
answer.

Related issue

A Estimation of Poverty Line

B. NBFC Reforms

C. Capital Account Convertibility
D. Banking Reforms

Committee

I. Tarapore Committee

Il. Shah Committee

I1l. Tendulkar Committee
IV. Narasimham Committee
1. A-ll, B-lll, C-I, D-IV

2. A-lV, B-I, C-Il, D-1lI

3. A-lll, B-ll, C-I, D-IV

4. A-lll, B-1, C-Il, D-IV
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34. The Mobile App launched by the
Telangana RTA on 30th March, 2016.

1. Road Vallet 3. M-Vallet
2. E-Road 4. E-Vallet

35. Which of the following diseases are
caused by Virus?

A.Zika  B. Meningitis C. Dengue
1.Aand C 2.A,Band C
3.Aand B 4. BandC

36. Who is the winner of Asian Kabaddi
Champion-20167?

1. Pakistan 2. Sri Lanka
3. India 4. Bangladesh

37. Read the following Statements and
choose the correct answer:

A. Wheeler Island is named after Abdul
Kalam

B. Wheeler Island is located close to Kerala
Coast in the Arabian Sea.

1.Aand B 2. Neither A nor B
3. Aonly 4. B only

38. The Chairman who submitted the
Report on (Reservation for Jats) in
Haryana State is the role of officials
during Jat agitation

1. Rajendramal Lodha

2. Justice Narsimha Reddy

3. Prakash Singh

@;
<



http://www.freshersnow.com/

TSLPRB POLICE CONSTABLE PRELIMINARY 2016

-

FRESHERS NOW

TRANSPORT & EXPORT CONSTABLES
MEMORY BASED PAPER

4. Mukul Mudgal

39.India’'s Rank in 2015 Human
Development Index

1.140 2. 136
3.131 4.130

40. The Man Booker International Prize-
2016 was awarded to

1. Han Kang & Alice Munroe

2. Lidia Davis

3. Alice Munroe

4. Phillip Roath

41. The Indian American women who
appointed as US Ambassador to Chad in
Africa?

1. Tulasi Gabbard 2. Geeta Pasi

3. Rama Rajeswari 4. Atitha Srinivasan
42. Which of the following city ranked
first (most polluted) as per the recently
published WHO Survey for 20167

1. Gwalior 2. Beijing
3. New Delhi 4. Zabol

43. Match the following correctly:

A. Japan I. DAX

B. Australia II. Nikket
C.USA I1l. NASDAQ

D. Germany IV. All Ordinaries
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1. A-ll, B-IV, C-llI, D-
2. A-ll, B-I, C-1Vv, D-llI
3. A-ll, B-1, C-lll, D-IV
4. A-l, B-1V, C-lll, D-1I

44. The Pacific Tsunami Warning Centre
is located at

1. Peru 2. Singapore
3. Ukraine 4. Hawaii

45, Olive Ridley tortoises are NOT found
in the area of

1. Rushi Khulya 2. Nanda Devi

3. Gahir Mata 4. Devi

46. Which among the following years
recorded the least average inflation rate
in India?
1.2014-15 2.2015-16
3.2012-13 4.2013-14

47. Which Chemical is sprayed on clouds
to produce artificial rainfall?

1. Silver lodide 2. Ferrous
Sulphate

3. Potassium Bromide 4. Silver
Nitrate

48. The Vitamin predominantly found in
the ripe Mangoes is

1. Vitamin-C 3. Vitamin-A
2. Vitamin-D 4. Vitamin-B
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49. Which of the following is NOT a
tributary of Krishnariver?

1. Ghataprabha 3. Bhima
2. Purna 4. Malaprabha
50. Right to Property is not a
Fundamental Right according to the
Constitutional Amendment of

1. 43rd Constitutional Amendment

2. 44th Constitutional Amendment

3. 40th Constitutional Amendment

4. 42nd Constitution Amendment

51. How many States in India have
Legislative Council at present?

1. Seven 2. Eight 3. Five 4. Six

52. The 14th Finance Commission's
recommendations are applicable for the
period of
1. 2020-25 2.2010-15
3.2012-17 4. 2015-20

53. The distict with lowest Per Capita
Income in Telangana State at present.

1. Nizamabad 2. Medak
3. Mahabubnagar 4. Adilabad

54. Which of the following Committee's
constituted to inquire into Centre-State
relationship in India?

A. Rajamannar Committee.

B. Sarkaria Commission
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C. Poonchi Commission
1.A,Band C 3. B only
2.Cand A 4. Aand B

55. Who was the Governor General of
India when Sati system was abolished?

1. Dalhousie 2. Wellington

3. William Bentinck 4. Lord Canning

56. The tenure of Chairperson of National
Commission for Women, India is

1.4 Years 2. 5 years

3. 2 years 4.3 Years

57. The guidelines laid down by the
Supreme Court of India for dealing with
sexual harassment of women at work
place in the case of

1. Menaka Gandhi 2. Nirbhaya
3. Mohini Jain 4. Vishakha

58. Which Indian Film has won the Best
Film at the Asian New Talent Awards in
the 19th Shanghai International Film
Festival?

1. Kapoor & Sons

2. Buddha in a Traffic Jam

3. Thithi

4. Airlift
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59. Who wrote the book "India wins
Freedom"?

1. Swami Vivekananda

2. S.N.Mukherjee

3. Maulana Abul Kalam Azad
4. Ravindranath Tagore

60. In which city the Theosophical
Society was founded?

1. San Francisco 3. New York
2. Kolkata 4. Toronto

61. On 23rd March, 1931, in which Jail
Rajguru. Sukhdev, Bhagar Singh ware
hanged by the British Government?
1. Yarawada-Pune 2. Andaman

3. Allahabad 4. Lahore

62. What is the famous Dance of the
Kakatiya period?

1. Perini Shivatandayam

2. Kakati Keli

3. Chindu

4. Yakshaganam

63. The Warangal Inscription issued in
Telangana Dialect during the 9th century
was known as

1. Anumakonda Inscription

2. Pillalamarri Inscription

3 Gudur Inscription
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4. Korivi Inscription

64. The Telangana talli holds Batukamma
in one hand, what is in the other hand?

1. Ear of Corn (Maize)

2. Indian Roller/Blue Jay

3. Bonam

4. Rose Flower

65. What is the name of the Telangana
mahasabha Conference hold on 11th
August, 1997 at Suryapeta?

1. Dhokathinna Telangana

2. Bangaru Telangana

3. Tiragabadda Telangana

4. Dagaabadda Telangana

66. 'Ujjaini Mahankaali' Temple in
Secunderabad was built by

1. Raja Bahadoor Venkatrama Reddy

2. Krishna Swamy Mudaliyar

3. Padma Rao Mudaliyar

4. Suriti Appaiah

67. Which is the famous Buddhist site in
Nalgonda district that was recognised in
1960 as the Protected Archeological

Monument?

1. Nelakondapally
3. Kolanupaka

2. Tirumalagiri
4. Phanigiri
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68. Which prison is called as the
'Andaman of Nizam State"?

1. Karimnagar 2. Chanchalgada

3. Mannanuru 4. Warangal

69. On which day the 'Sadak Bandh'
programme during Telangana agitation
was organised?

1. 2013, March 12 2. 2013, March 24

3.2013, March 11 4. 2013, March 21
70. Who first discovered the
Nagarjunakonda fossils?

1. Alexander Ray 2. Cunningham

3. A.R. Saraswati 4. Colonel Mecanzie
71. In Telangana, during which Festival
generally the flour recipe known as
‘Malida Muddalu' is made

1. Dasara 2. Shivaratri

3. Bonaalu 4. Batukamma

72. Who is the present Chairman of the
National Commission for Scheduled
Tribes?

1. Suraj Bhanu 2. Kuldip Singh
3. Rameshwar Oraon 4. Punnaiah
73. To encourage Transparency and

Accountability, when did the Parliament
approved the Right to Information Act?

1. 2006 2. 2007
3. 2004 4. 2005

74.Who among the follow in was the first
prominent Telangana Revolutionary
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fought against Tyranny of the Muslim
Rulers the Telangana?

1. Sarval Papanna 2. Sarvanna
3. Hasan 4. Imam

75. What is the meaning of the word
Kakati of the Kakatiya Dynasty?

1. Tree 2. Nandi
3. Pumpkin or Kushmandam 4. Boar

Directions: In the Question Nos. (76-80)
given below there is a statement
followed by two assumptions As ‘A’ and
‘B’. An assumption is something
supposed or taken for granted. You have
to consider the statement and given
assumptions and decide which of the
assumption(s) is are implicit in the
statement and choose the appropriate
option from the given 4 options.

76. STATEMENT: TSRTC is proposing to
increase the charges to meet the deficit.

ASSUMPTIONS:
A: Present RTC charges are low

B: If the charges are not increased the
deficit cannot be met.

1. Both assumption A and B are implicit
2. Neither assumption A nor B are implicit
3. Assumption A only is implicit

4. Assumption B only is implicit
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77. STATEMENT : Computer Education
should be imparted from primary school
level.

ASSUMPTIONS:

A: Learning computer skills is easier at this
level.

B: Knowledge in computers has become
necessary in this digital age.

1. Both assumption A and B are implicit
2. Neither assumption A nor B are implicit
3. Assumption A only is implicit

4. Assumption B only is implicit

78. STATEMENT: If you have any
problems, bring them to me.

ASSUMPTIONS:

A : | can solve any problem.

B: You have some problems.

1. Both assumption A and B are implicit
2. Neither assumption A nor B are implicit
3. Assumption A only is implicit

4. Assumption B only is implicit

79. STATEMENT : Books are like friends
which bring rich and lasting rewards.

ASSUMPTIONS:
A: You should choose your friends.
B: Books give us satisfaction.

1. Both assumption A and B are implicit

2. Neither assumption A nor B are implicit
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3. Assumption A only is implicit
4. Assumption B only is implicit

80. STATEMENT : Consult me before
making any decision.

ASSUMPTIONS:

A: You may take a wrong decision, if you
don't consult me.

B: It is important to take right decision.

1. Both assumption A and B are implicit

2. Neither assumption A nor B are implicit
3. Assumption A only is implicit

4. Assumption B only is implicit

Directions (Q.N0s.81-85): This questions
contains a statement followed by two
arguments A and B. You are requiered to
observe and choose correct option from

the given four options:

81. STATEMENT: Should the sand
quarrying be stopped.

ASSUMPTIONS:

A: Yes, it should be discouraged to protect
the environment.

B: No, the construction activity cannot be
stopped.

1. Both assumption A and B are valid
2. Neither assumption A nor B are valid
3. Assumption A only is valid

4. Assumption B only is valid
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82. STATEMENT : Should distance
education be dis couraged in India?

ASSUMPTIONS:

A: Yes, more universities are offering
regular courses.

B: No, distance education is more useful in
India.

1. Both assumption A and B are valid

2. Neither assumption A nor B are valid
3. Assumption A only is valid

4. Assumption B only is valid

83. STATEMENT : Should small scale
industries be promoted in rural
Telangana?

ASSUMPTIONS:

A: Yes, Rural People are creative.

B: Yes, this will help to reduce.
unemployment problem at some extent.

1. Both assumption A and B are valid

2. Neither assumption A nor B are valid

3. Assumption A only is valid

4. Assumption B only is valid

84. STATEMENT : Should outer ring road
at Hyderabad be closed since more fatal
accidents are taking place?

ASSUMPTIONS:

A: Yes, it should be closed for public safety.
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B: No, adequate safety measures to be
enforced.

1. Both assumption A and B are valid
2. Neither assumption A nor B are valid
3. Assumption A only is valid

4. Assumption B only is valid

85. STATEMENT: Should Constables
accept bribe, sometimes?

ASSUMPTIONS:

A: Yes, their salaries are low

B: No, they should always work honestly

1. Both assumption A and B are valid

2. Neither assumption A nor B are valid

3. Assumption A only is valid

4. Assumption B only is valid

Direction (Q. Nos. 86-90): In this
questions there is a statement followed
by two conclusions A and B. You have to
take the given statements to be true even
if they seem to be at variance with
commonly known facts. Read all the
conclusions and then decide which of

the given conclusion(s) logically follow
from the statement given in the question.

86.STATEMENT: All birds are monkeys.
All monkeys are lions.

CONCLUSIONS:

A: All birds are lions.
B: All lions are monkeys.
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1. Both conclusions A and B follow the
statement

2. Neither conclusion A nor B follows the
statement..

3. Conclusion A only follows the statement
4. Conclusion B only follows the statement
87. STATEMENT:

Some tigers are snakes.

Some snakes are fish.

CONCLUSIONS:

A: Some chairs are fish.

B: All snakes are fish.

1. Both conclusions A and B follow the
statement

2. Neither conclusion A nor B follows the
statement

3. Conclusion A only follows the statement
4. Conclusion B only follows the statement
88. STATEMENT:

Some desks are bats.

No bat is black.

CONCLUSIONS:

A: Some bats are desks.

B: No desk is black.

1. Both conclusions A and B follow the
statement

2. Neither conclusion A nor B follows the
statement

3. Conclusion A only follows the statement

4. Conclusion B only follows the statement
89. STATEMENT:

www.freshersnow.com

Some animals are trees.
Some trees are birds.

CONCLUSIONS
A: All birds are lions.
B: All lions are monkeys,

1. Both conclusions A and B follow the
statement

2. Neither conclusion A nor B follows the
statement

3. Conclusion A only follows the statement
4. Conclusion B only follows the statement

90. STATEMENT:
Some pigeons are frogs.
All frogs are dogs.

CONCLUSIONS:
A: Some pigeons are dogs.
B: Some frogs are dogs

1. Both conclusions A and B follow the
statement

2. Neither conclusion A nor B follows the
statement

3. Conclusion A only follows the statement
4. Conclusion B only follows the statement
91. The total earnings of a firm is divided
to A, B, Cin the ratio of 1:2:4. If A gets
94,000 what is the difference between the
earnings of B and C?

1. 2,84,000 3. 94,000

2.13,76,000 4,1,88,000
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92. In a class of 200 boys and 100 girls, 97. A, B are partners sharing at 3:4 ratio.
40% of the boys and 70% of the girls If A gets a profit of 480 for his capital of
passed in atest. What is the per centage 27,000, what is the capital of B?
of successful students in the class?

1. 54,000 2.9,000
1.60 2.40

3. 27,000 4.36,000
3.55 4.50

98. What is the angle between 'Hours
93. A Cricketer scored an average of 82 hand and 'Minutes hand' of a clock,
runs in his last ten T20 matches. Had he when the' and time is 2.307?
scored a century in his last match
instead of a 20 runs, what would have 1. 120° 2.180° 3.105° 4.90°

been his average of last ten matches?
99. What is the length of a room, if its
1.90 2.85 breadth is 12 feet and the cost of flooring
is Rs.1,344 at Rs.8 per square foot?

3.84 4. 100
1.10 2.16

94. The difference between the ages of

two persons A and B is 25. Five years 3.12 4.14

ago, B's age was twice as that of A. What

is the present age of A? 100. A car travelled between two towns
at 60 kmph for first one and half hour

1.30 2.55 and at 80 kmph for the next two hours. If
atrain can travel same distance in 2

3.25 4.50 hours, what is the speed of the train in
kmph?

95. P does awork in 6 days and Q does

the same work in 3 days. In how many 1. 140 2.90

days they together will do the same

work? 3. 125 4.250

1.2 2.3 101. If a sum of money at simple interest
doubles in 5 years, it will become 4 times

3.4.5 49 L. in years.

96. Ravi purchased 20 dozen eggs at the 1.20 2.17

rate of 50 per dozen. He sold 8 dozens at

the rate of 60 per dozen, while two dezen 3.10 4.16

eggs were broken in transit, the

remaining were sold at the rate of 52 per 102. Choose the proper analogy

dozen. How much profit he earned? Pot: Clay:: Furniture:?

13480 2.0 3.%1000 4.X.520 1. Timber 2. Carpenter
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3. Chair 4. Table

103. If red is called yellow, blue is called
pink, white is called black, then what is
the colour of the sky?

1. Red 2. Pink

3. Yellow 4. Black

104. Pointing to a photograph, a woman
said he is the only son of my mother's
mother. How is the woman related to the
man in the photo?

1. Sister 2. Aunt

3. Mother 4. Niece

105. Find the next number in the series
2,12, 30, 56,

1.86 2.84
3.82 4.90

106. In a code language KITE is written
as LKWI, then what should PALM be
written as.

1. QBNP 3. QCNP

2. QBMN 4. QCOQ

107. In a class of 40 students, P is in 30th
position from last and Q is in 20th
position from first. How many are there
between them?

1.10 2.11

3.9 4.8

108. In a clock when time is 4.30, if the
'Hours hand' shows east direction, at
what time it shows the south direction?

1.8.00 2.7.30
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3.7.00 4.6.30

109. A man facing east, after walking for
10 km turned to his right and walked for
another 3 km. He again turned to his
right and walked for another 6 km. How
far is he now from starting point?

1.7 km 3.5km

2.19 km 4.4 km

110. If January 1st of a year falls on
Sunday. What is the day on 26th March,
if that year is leap year?

1. Saturday 2. Tuesday
3. Monday 4. Sunday

111. The LCM of two numbers is 60 and
the numbers are in 3:4 ratio. Find the
difference of the numbers.

1.10 2.15

3.35 4.5

112. Find the lowest of the following
21/45,3/5,16/33, 1/2

1.16/33 3.21/45
2.1/2 4. 3/5

113. In the code SM4#X5/B *A9BZK$BC8,
how many letters proceeded by a symbol
and followed by a digit?

1.2 2.1

3.4 4.3
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114. 153 is called an Armstrong number Problem Figure :
as the sum of the cubes of the digits of :
the numbers is the same number (i.e NG TN 9
13+53+33=153). Find such other number . o] s oad -
from the following: S :
A. B. C. D
1.372 3.264 Answer Figures :
2.371 4.362 (l) ‘\ (‘) /“
. . 2,3 -4 ; \ ‘j
115.Simplify 3§+4§ +5E &_,
i B 2. 3. 4.
2 1
113 2.13;
3. 13% 4. 13% 118. Find the no. of triangles in the given
fig :
116. Complete the series in the problem
figure with one of the given options. \_\ /

\ 4

Problem Figure : ) 3.16 4,17

@ , ’ j 1.19 2.15
o)

Answer Figures :

119. Select suitable figure from the four
alternatives given that would complete
% % @ the question figure matrix.
L 2. 3. Problem Figure :
o ;!
56 s
117. In the following question there is a (1] j
definite relationship between figures A - ;
and B establish a similar relationship Answer Figures :

between figures C and D by selecting a

suitable figure from the answer figures : I : + ‘ | 1 ‘ ‘\

T 2. 3. 4.

()
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120. Complete the series in the problem 123. Complete the series in the problem
figure with one of the given options: figure with one of the given options.

Problem Figure :

Problem Figure :

i ¥ rﬂ | WSK@

Answer Figures :

OA}LD ?

Answer Figures :
+
i . ? J L D L
l - 4 LA [\
‘ 3 1 g 3. 4.
1. % 5 ' 124. In the following question, there is a
o definite relationship between figures A
121. Complete the series in the problem and B, establish a similar relationship
figure with one of the given options. between figures C and D by selecting a
suitable figure from the answer figures;
Problem Figure :
+ 1 +|[ — +|fa —+} Problem Figure :
J= ol o o 0 ? ;
ADe|lACIe|AT e e @ A ( 9
Answer Figures : /\ O =
A D
A-+F|[a-F|[a-F-a+ - s ¢
o ellm ollo ol o Answer Figures :
(- 20 of|e ® C = C e
3 - o 3. 4. : D ( D @
1 2 3. 4

122. Complete the series'in'the problem

figure with one of the given options.
125. In the following question, there is a

definite relationship between figures A
and B, establish a similar relationship

a @ = I between figures C and D by selecting a
J Rt d) suitable figure from the answer figures :

Problem Figure :

B||D| QX
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Problem Figure :

PEEE

l
A. B. C. D
Answer Figures :

126. When | first saw the old temple, I .....

into that locality.

1. just moved
3. will be moved

2. Had just moved
4. Moved

127. My aunt ....... In Chaitanyapuri ever
since she relocated to Hyderabad.

1. Is living 2. Has been living
3. will be living 4. Was living

128. Could you ....... out the tea please
1. pore 3. pour

2. pour 4. paw

129. I...... my bus to Bangalore last
night.

1. missed 2. mess

3. messed 4.mist

130. The adverb form of 'brave' is
1. bravely 2. brave

3. none of these 4. bravery

www.freshersnow.com

131.The noun form of coordinate' is
1. coordinate 3. none of these
2. coordinating 4. coordination

132. My kids like potato fry, though |
prefer them mashed.

1. complex 2. compound
3. compound-complex 4. simple

133. Nowadays, cost of education is
increasing.

1. no article 3.an

2.a 4. the

134. The current status of the booking
will be known in a short while. (choose
the synonym of the underlined word)
1. electricity 2. past

3. uncommon 4. present

135. The domestic car market showed a
growth of 50 percent for three
consecutive years. (choose the antonym
of the underlined word)

1. ensuing 2. sequential
3. discontinuous 4. successive

136. Let's talk about this over........ cup of
coffee.

1. an 3,a

2. no article 4. the
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137. 1 can't stand ....... here all the time.
1. waiting 2. was waiting

3. waited 4. to wait

138. The council ......... by the members

of the group.
1. was elected 2. will elect
3. had elected 4. elected

139. Animals like rabbits and......
Have short tails.

1. hare 2. airs

3. hares 4. hairs

140. The noun form of 'note' is.....

1. noticeable 2. notification
3. none of these 4. notify

141. | can play......... football.

l.a 3. an

2. the 4. no article

142. Let's have a cup of tea,.....

1. won't we? 2. shall we?

3. did we? 4. will we?

143. This is the ......... book that | have
ever read.

1. most interesting 2. interesting

3. very interesting 4. more interesting

www.freshersnow.com

144, A city is ..... than a town.
1. bigger 2. more bigger
3. biggest 4. very big

145. Please answer the questions on the
sheet........... to you.

1. provided 2. had been provided
3. was provided 4. providing

146. Most of the people working in this

company are......... employees.
1. had satisfied 2. satisfied
3. was satisfied 4. satisfying

147. He thought of completing the
course by....... online.

1. to study 2. studying
3. was studying 4. study
148. ......... stress on employees due to

long working hours was discussed in the
meeting.

1. Increased 2. To increase

3. Increasing 4. Increase

149. An identity tag to me at the entrance
of the building.

1. was given 2. Gave

3. had given 4. Given
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150. My grandfather is being ........ after
by a professional nurse.

1. looked 2. look

3. had looked 4. looking.

Answers

11243444526.27.18.29410.111.412.413.114415.116.417.1
18.2 19.2 20.3 21.3 22.4 23.2 24.1 25.4 26.4 27.3 28.2 29.4 30.1 31.4 32.2
33.234.435.436.137.238.239.440.141.442.1 43.344.245.146.447.2
48.349.4 50.4 51.3 52.4 53.4 54.1 55.2 56.4 57.4 58.1 59.2 60.3 61.1 62.2
63.1 64.3 65.266.267.168.369.270.271.172173.274.475176.277.1
78.479.480.1 81.182.283.184.285.186.287.488.389.490.191.392.1
93.494.2 95.296.1 97.1 98.1 99.2 100.2 101.3 102.4 103.4 104.1 105.4

106.1 107.2 108.3 109.1 110.1 111.4112.1 113.3 114.4 115.- 116.4 117.4
118.3 119.1 120.3 121.3 122.2 123.3 124.3 125.1 126.4 127.2 128.3 129.1
130.1 131.4 132.1 133.4 134.4 135.3 136.3 137.1 138.1 139.4 140.2 141.4

142.2 143.1 144.1 145.1 146.2 147.2 148.1 149.1 150.1
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